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(a) Center of gravity is a point where all 
small components of the body can combine, 
and weight can be treated as acting on 
center of gravity only.
(b) In equilibrium, there is no net force 
acting on the body. The body could be moving 
at uniform velocity or at stationary.

(ci) Take moment about X. 
 Clockwise moment = Anti-clockwise moment,
 

(400) (0.9) (sin 60) = T (0.6) (sin 70)
       T = 410N
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(cii) Balance horizontal forces,
 F = T cos 20
   F = 386N

 Balance vertical forces,
 W = R + T sin 20
 400 = R + 410 sin 20 
 R = 260N

 The resultant force = F + R
         = 465N
  


